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a - HF W RIE RIE RIE RIE
X338 V) X338 V) X338 1) X338 V) X310 V)
HIEZEHEET DFE T - il Y1-vouliR | vo-Yadhra | Ya- vl | v4-vesiE | Y6y 7dm R BT
FRFT : S5400— (0), SM490— (1) 0 0 0 0 0
H : E Rk 700 596 596 596 700 [mm]
B 75 VIR 300 199 199 199 300 [mm]
tw A 13 10 10 10 13 [mm]
tf IS5 UVE 20 15 15 15 20 [mm]
r 74 Ly MER 0 13 13 13 0 [mm]
Fy . JLvEsREE (JIS—1. 1F) 258 258 258 258 258 [N/mnd
E LY R 205000]  205000[  205000[  205000] 205000 [N/mnd
N s SR A EIZ L B JEAE 0.0 0.0 0.0 0.0 0.0 [kN]
Lc  #ME 6421 6421 4651 6421 6421 [mm]
Ke R E SR 1 1 1 1 1
Ml JEBEREOE—AL b (K) 1. 00 0.58 0.15 0.58 1. 00 [KN * m]
M2 RO E—AL R () —0. 58 —0. 15 0.15 -0. 15 —0. 58 [kN * m]
M2/ML  :sE— A b, liREEL TS -0. 58 —0. 27 1. 00 —0.27 —0. 58
Lb  : AEEARXEORE S 6421 6421 4651 6421 6421 [mm]
Kb :*ﬁﬁ“?ﬁéf—fiﬁz 1 1 1 1 1
BB, A (B1l. 1) DO Nc ZRIET bora. VeI cdk Ke 141 & LC LD
TRE DG BAE - | SS400 $5400 $5400 S5400 S5400
75 VMR - b/tf 7.5 6.6 6.6 6.6 7.5
SRBRRIC & B 7 T v VIR D IR 11.0 11.0 11.0 11.0 11.0
v = ZUEIEL  (1-2tF) /tw 50. 8 56. 6 56. 6 56. 6 50. 8
SABRERINC & B 7 = Z IR o LRME 65.0 65.0 65.0 65.0 65.0
il (FBLL )] (FBLL )] (FBLLE)] (FBLALE)] (FBLLE)
Ag Mg 205. 8 117.8 117.8 117.8 205. 8 [cnt]
Zp RPN AR 5539 2597 2597 2597 5539 [cm3]
Ze . SRR AREK 4854 2235 2235 2235 4854 [cm3]
Ix__ : shdhoolrm 2 RE— A b 169905 66603 66603 66603] 169905 [cm4]
Iy : 55hoWim 2 IRE—A B 9012 1977 1977 1977 9012 [cm4]
iy  59H)E D ORI 6. 62 4. 10 4.10 4. 10 6. 62 [cm]
A R T IR 60. 00 29. 85 29. 85 29. 85 60. 00 leni)
. ERE T T UV R NDL/6035 72 BT
VOO = THOETE 2 YCER 7.88 5.07 5.07 5.07 7.88 [em]
Cb  : BAEJEE— FR¥EK 1. 245 1. 492 2. 300 1.492 1. 245
o scr : Saint—Venant Torsion 177.9 103. 9 143.5 103. 9 177.9 [kN/mmi ]
gwer  : Warping Torsion 304. 4 126. 4 240.8 126. 4 304. 4 [kN/mn ]
Mp  : EMoeEE— A2~ (Zp*l. IF) 1429 670 670 670 1429 [kN * m]
Me  : BPERREEHE— AL B 2431.3 634.0] 1674.3 634.0]  2431.3 (kN * m]
MEth  : M ORBERE— A b 1204 493 670 493 1204 [kN * m]
Ab  BRUEEEMRE =4/ Mp/Me 0. 767 1. 028 0.633 1. 028 0.767
pAb : VBPEIR UM b =0. 6+0. 3 (M2/M1) 0. 427 0. 520 0. 900 0. 520 0. 427
A b [ MEthD BER,
Ab=pAib Mp 1429.0 670.0 670.0 670.0[  1429.0 [KN * m]
pAbCAb=1.29 [1-0. 1 Ly, 120400  493.2]  853.8]  493.2] 1204.0 [KN « m]
1.29< A b Me 2431.3 634.0]  1674.3 634.0]  2431.3 (kN * m]
RELXSNREC, FDOHDIZHOWNT
MLb M O JSEHEE— A > b (FBLL I)| (FBLAE)| (FBLAL)| (FBELLE)| (FBLA L) [kN * m]
Mc=min[Mp, MLb Mftb] = 1204 493 670 493 1204 (kN - m]
ZZT SHE—IH=|  1429.0 670.0 670. 0 670.0|  1429.0 (kN « m]
% _IH=| (FBLLE)| (FBLLE)| (FBELE)| (FBEALE)| (FBELL) (kN * m]
== 1204. 0 493. 2 670.0 493. 2 1204. 0 [kN * m]
v BRtR#b D Fy - Ag= 5310 3038 3038 3038 5310 [kN]
y Ix Iy |_ ,
Lae : A ae=min T | 2.19 0. 48 0.91 0. 48 2.19 [mnd]
Ne : BBPEEE T _m2E dae
2 4423 970 1849 970 4423 [kN]
N 7‘/1\*_ 1. 096 1.769 1.282 1.769 1.096
N
B U JE2 I /) : Ne
A cDHH Ne DB ER Ne DA Ne DA Ne DA Ne DA Ne DA
Lc=0.15 Ny 5310 3038 3038 3038 5310 [kN]
0.15¢Lc=1.29 (1.07-0. 44 L ¢) Ny 3121 885 1537 885 3121 [kN]
1.29< A c 0. 83Ne 3671 805 1535 805 3671 [kN]
S Ne= 3121 805 1537 805 3121 [kN]
Mm:min{ L 18MC{ N J MC} <-Mm= 1204 493 670 493 1204 [kN « m]
Ne B—TH= 1421 582 791 582 1421 [kN * m]
B IH= 1204 493 670 493 1204 (kN * m]
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b - H AW
d _ k
?W = 486ﬁ DA Qn= 0.6 * Fyw * Aw (3.1.16a) X
k d k d [Py || P
486 < — <7004 — O, = [ 10804 —— || g9 JAv  (3.1.15b) =
‘, Fyw tw Fyw tw k
d 0 186000 X k X Ay
4 e KA A
W U= oma, [ir) (3.1.15¢) %
y tW
_ 4
1) B2l L x k_5'4+ﬁ
M g<1nLx k=%+4
m B>3.00rE, RORAFT7FEHANRNEE, k=5
X35 | X3imv | X3i@b | X3u@b | X3ub
H RGBT & AU ) Y 1-Y 2R | v2- V3 | Y3 Y4 R | Y4- Ve i | ve- Y 7ih s

a L HEATF 7 FORbE 6421 6421 4651 6421 6421 [mm]

d A 660 566 566 566 660 [mm]

B : v 7sHk (=a/d) 9.7 11.3 8.2 11.3 9.7

k - B AR S 5.4 5.4 5.5 5.4 5.4

d/tw v 7IEEk 51 57 57 57 51
4864 k/Fyw 71 71 71 71 71
PR | =d/tw =d/tw =d/tw =d/tw =d/tw
700V k/Fyw 102 102 102 102 102
JENA - | =d/tw =d/tw =d/tw =d/tw =d/tw
(3.1.15a) [ (3. 1. 15a) [ (3. 1. 15a) [ (3. 1. 15a) [ (3. 1. 15a)

Aw U= JWERE 8580 5660 5660 5660 8580 [mnt]
(3.1. 1ba) KDOKF 1328 876 876 876 1328 [kN]
(3.1.15b) RoO#f 1633 1018 1019 1018 1633 [kN]
(3. 1. 15c) RODEF 3368 1784 1794 1784 3368 [kN]

Qm __: HASHEM OF AW/ 1328 876 876 876 1328 [kN]




